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2A:

JI=O A E E 2

3 NALKUAUSH(LS/FOIULESSUR)
el BAsts)IERs (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-E2E 78 1,000,000 432 4,000
-AIRES FY 1,000,000 *23] 2,000
-g4H=5 7Y 430,000 22 860
-aR2E 7Y 500,000 <22 1,000
-HEES 7Y 500,000& 22 1,000
03 A= I 15,000 20,840 A5,840
Oditlts =Ml = 15,000,000 15,000
206 MH=H| 81,500 79,400 2,100
01 M=4l 81,500 79,400 2,100
Obt=stu =gMs +
3,600,000 *100H 2~ 36,000
OtisH gz &
7,500,000 *40H 2 30,000
OH0I=0 =z 2L
7,500,000 * 10 2 7,500
OBIIS T2HE 2R 7L
1,000,000& +38 3,000
OgoEz0d =gis 7
500,000& *102] 5,000
301 EtE N = 191,640 190,060 1,580
11 dALEBIXNIE S 66,240 63,960 2,280
Ootsstn FIHA =41 M3
8,000& *20& *32|* 104 2 4,800
OtiEH EItAF 24a 7Y
3,000 x20& 2002 *4 4 A 48,000
OH0HS0H FIHAF 2hal 2
3,000 20 %2002 12,000
O3J18 ZZ2HE A =24 M3
8,000& *20& *33|*3E 1,440
4Bt 2as 125,400 126,100 AT700
obts=stn ZA==g s
80,0002 302/ * 1074 2 24,000
OtiStE 2Ae=g Xs
80,0003 x2002| *40H 2 64,000
Od0IE0M ZAt=g X=
120,000& »2002] 24,000
OB2I8 Z2HE IM=E XS
60,0002 *302|*3E! 5,400
OguZ2 0 AAeg X3
800,000 %102 8,000
307 el2to| & 3,000 2,500 500
06 28= 3,000 2,500 500
OFIH 28 3,000,000 3,000
a9z =22E gdsiga HE 1,950,000 2,300,000 /350,000
CH 1,950,000
401 AIEHIX SO 1,950,000 2,300,000 /350,000
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2A:

X XH -
o=

pIEPNE=1T ]
N PSP GnE

/FOILEZENSK)

el gdssleties (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH 1,950,000
01 Al&H| 1,950,000 2,300,000 350,000
OBER 22 BASS(IE) 2
1,950,000,000& 1,950,000
CH 1,950,000
GligIEI (o IEl/oldldl) 6,755,474 23,703,867 16,948,393
ollg1y| 6,755,474 23,703,867 16,948,393
oligil 6,755,474 23,703,867 16,948,393
801 OfiHIH 6,755,474 23,703,867 16,948,393
01 Zetoldlbl 4,976,104 5,000,000 N23,89%6
OollblHl 4,976,104,000& 4,976,104
B UHFRES 1,779,370 709,101 1,070,269
OfF Eoiat=) 1,779,370,000& 1,779,370
AH2LIHIO1=0aS 2 (O1EH/IIE 62,188 58,280 3,908
Jl=23HIO1= 0 EE2) 62,188 58,280 3,908
JI23HI(OI=0A ) 62,188 58,280 3,908
201 el 37,828 35,180 2,648
01 At2telt] 37,828 36,180 2,648
Oget=ZH| 11,200,000 11,200
O=EH| 26,628,000& 26,628
202 048l 18,300 17,100 1,200
01 2L A b 18,300 17,100 1,200
OJl=g R4 50,0002 x28EF « 122 16,800
O824 500,000 *3H 1,500
203 HR=&H] 4,860 4,800 60
M EA2HER=AH 4,860 4,800 60
ORNEgE =AY 405,000 123 4,860
204 AR A 1,200 1,200
01 Mg R3] 1,200 1,200
OX MBS =T 00,0002 122 1,200
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